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instructions : 1) Check ‘ : ; .
« the question paper for taimess of printing. If there is any | K of fai -
immediately ® any lack of fairness, inform the Hall Supsrvingr
2) Use Biue or Black ink to write the underiine and pencil to draw diagrams
PART .|

"Om o4 _‘m““' 3‘“}” Questions. ) Choose and write the correct answer

< .iA e eecin Nes Of Torce Or ginating from a charge 1 n( Wxiw 10
a <9 X 1 B 113 ) 1.120x 10 d) 8 858 x 10 -

v, a8 : A nd o 4 ' )

¢ . ¥ Charges s A ) " D) &e & C) pE cost d) pE sing
© 1S placed i a uniform electric field with its axis paraliel to the field. It experiences

] )~ 2

orque  C) both a net force and torque  d) netiher a net force nor a torque

t arges -, Q. 29 and 2Q are placed. one at each comer of the square. The relation between Q and q for which the

, 1 1
i &l the centre of the square is 2ero is a) Q=-q b)Q=-7 ¢c)Q=q d)Q=
g 1 q
; ates of two oppositely charged plane sheets of charge density o is
o " Capacit a) depends on charge b) depends on electric potential ¢) depends on both charge and
eie pote 0) oepends on neither charge nor electric potential

of a copper wire has a certain resistance R, then on doubling the length its specific resistance
2) will be doubled D) will become 4™ c) will become 4 times d) will remain the same

“hen n resistors of equal resistances (R) are connected in paraliel the effective resistance is. ... a) g b) F: c) n1R d) nR

When two resistors R, R, are connected in series, they consume 12W power. When they are connected in paraliel, they consume

p - ; ; 3 1
S50W power. Whatlsmemhodpmoitmwmﬁtggs\t&gnd& a)3 b)é c)4 d) 4

The slope of V-1 characteristics of ohmic conductor is

a) Resistance b) Specific Resistance ¢) Conductance d) Temperature coefficient of Resistance

Nichrome wire is used as heating element because it has...........

a} low specific resistance b} low melting point c) high specific resistance d) high conductivity

The penod of revolution of a charged particle inside a cyclotron does not depend on

a) the magnetic induction b) the charge of the particle c) the velocity of the particle d) the mass of the particle

The magnetic induction at the centre of a circular coil carrying current, if the current through the coil is doubled and the radius of
coil halved becomes a) halved b) unchanged c) doubled d) four times :
In a thermocouple, the temperature of the cold junction is 20°C, the neutral temperature is 270°C then the inversion temperature
is a)520°C b)540°C c)500°C d)510°C :

The Self-inductance of a straight conductor is a) zero b) infinity c) very large d) very small
Which of the following cannot be stepped up in a transformer?

a) input current b) input voltage c) input power d) all

ThepowartadorofRLCsedsadrwﬂintesonanceis a)¥% b)-% ¢c)1 d)0 :
An a.c.w&agensapp&edtoaresiswnoeRandaninductorLinseﬁes‘ If R and the inductive reactance are both equai

b4 n X ‘ %
mmmmwmmmwmmmn ........... a )-é— b)‘ic)“id}m° ;
The unit henry can aiso be written as a) VsA™ b)WbA ¢)Qs' d)all £
( o spectrum c) absorption line spectrum d) absorption

line spectrum b) emission band » o
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3 b)2c)it1 di4 > 5 '
- th bgh s increasedfur s,

if the wave length of
a) increased by 16 times b)@-:rﬁv ;

in young's double sit

 m is used. 1fthe wavelength o ighi s ¢



